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243585667] 3928.8570] 15065.1516] 2314.6328] 21499253 100.00% 16.13% 6554% 9.50% 8.83%
34755875 1595153] 2852.9092]  66.9834] 396.1796 100.00% 4.59% 82.08% 1.93% 11.40%
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1263.3193| 350.9613| 793.1720| 21.7830| 97.4031 100.00% 27.78% 62.78% 172% 7.71%
4466.1886|  476.0743| 2839.7047| 1256.2968 100.00% 10.66% 63.58% 28.13% 0.00%
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3.565 - 0.161 - -| 25223 28949
7.186 - - - - - 7.186
8m - 0.335 - - - - 0.335
0.8 70.831 1.415 - - - - 72245
13572 - - - - - 13572
0.25m 1.355 3.642 - - - - 4997
59.976 3.861 - - - - 63837
0.07m 201.617 16.500 - - - I 218117
-] 100.050 -|  96.543 - - 196593
-| 73652 - - - - 73652
3 -| 119.999 - - - - 119.999
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m 3 2000 - - - 0.863 - - 0.863
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